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1. Give the slope of the tangent line to the graph of  ( ) sin( ) cos( )f x x x= −  at the point where 

π=x . 
a. 0 
b. 1 
c. -1 
d. 2 
e. -2 
f. None of these. 

2. Give the slope of the tangent line to the graph of 
2

( )
1

x
f x

x
=

−
  at the point where  x = 0. 

a. 1 
b. -1 
c. 2 
d. -2 
e. 0 
f. None of these. 

3. Give the largest value of  x  for which the derivative of  3( ) 3 2f x x x= − +  is 0. 

a. -1 
b. 1 
c. -2 
d. 2 
e. 0 
f. None of these. 

4. Let ( ) ( )( ) 3 2cos sinf x x x= − .  Give ( )4/' πf . 

a. -1 
b. 1 
c. 2 
d. -2 
e. 0 
f. None of these. 



5.  Let 3 2( ) 2 5 7f x x x= − + − .  Give  ( )1'''f . 

a. 12 
b. -12 
c. -6 
d. 6 
e. 6x 
f. None of these. 

6. Give the derivative of 
( )

( )
sin 2

( )
cos

x x
f x

x

+
=   at  x = 0. 

a. 1 
b. -1 
c. 2 
d. -2 
e. 0 
f. None of these. 

7. Give ( ) ( )( )
3

3
cos sin

d
x x

dx
− .   

a. ( ) ( )xx sincos −  

b. ( ) ( )xx sincos +−  

c. ( ) ( )xx sincos +  

d. ( ) ( )xx sincos −−  

e. 0 
f. None of these. 

8. Let ( ) ( )( ) sin cosf x x x x= + . Give )(' xf . 

a. ( ) ( )xxx sincos −  

b. ( ) ( )xxx sincos +  

c. ( )xxcos  

d. ( ) ( )xxx cossin +  

e. None of these. 

  



9. Give ( )
2

3
2

3 2 6
d

x x
dx

− + . 

a. 0 
b. 18 
c. 9x 
d. 18x 

e. 29 2 −x  
f. None of these. 

10. Let  ( ) ( )sinf x x x= − . Give the value of  
( ) ( )

h

fhf
h

0
lim

0

−
→

. 

a. -1 
b. 1 
c. 2 
d. -2 
e. 0 
f. None of these. 

 


